

CHANGE ORDER

		Financial ID #435092-1-	58-01
CONTRACT:	Downtown Corridor Roadway Improvements	_ CHANGE ORDER NO:	#8 (LAP-3)
CONTRACTOR:	Quality Enterprises USA, Inc.	BID NO:	3084-18
	3494 Shearwater Street	PROJECT NO:	GO17R3
	Naples, FL 34117-8414	CONTRACT DATE:	05/08/2018
TIME CHANGE	EXTRA WORK	CREDIT	OTHER

The CONTRACTOR is hereby authorized and directed to make the following changes and modifications to the aforesaid Contract in accordance with all requirements applicable thereto.

ITEM #	Description	Unit	Quantity	Unit Price	Cost
101-1	Mobilization	LS	1	\$98,937.00	\$98,937.00
102-1	Maintenance of Traffic	LS	1	\$56,470.00	\$56,470.00
110-1	Clearing and Grubbing	LS/AC	1	\$28,360.00	\$28,360.00
110-4- 10	Removal of Existing Concrete (includes sidewalks, driveways and curbs, concrete collars)	SY	525	\$17.80	\$9,345.00
120-1	Regular Excavation	CY	1,150	\$17.35	\$19,952.50
120-6	Embankment	CY	10	\$39.85	\$398.50
160-4	Type B Stabilization 12" (LBR 40)	SY	2,162	\$7.45	\$16,106.90
285- 709	Optional Base Group 09	SY	1,997	\$15.75	\$31,452.75
334-1- 12	Superpave Asphaltic Concrete, Type SP-9.5 (Traffic B), 2"	TN	220	\$147.00	\$32,340.00
425-1- 201	Curb Inlets, Type P-9 (<10')	EA	2	\$4,045.00	\$8,090.00
425-1- 203	Curb Inlets, Type J-9 (<10')	EA	0	\$0.00	\$0.00
425-1- 561	Ditch Bottom Inlets, Type F,<10'	EA	1	\$4,200.00	\$4,200.00

SEGMENT 1: NOKOMIS ROADWAY IMPROVEMENTS - North of S-3 (Tampa to Miami)						
ITEM #	Description	Unit	Quantity	Unit Price	Cost	
425-1- 711	Gutter Inlets, Type V, <10'	EA	0	\$0.00	\$0.00	
425-2- 41	Manholes, P-7, <10'	EA	1	\$8,820.00	\$8,820.00	
425-2- 71	Manholes, J-7, <10'	EA	2	\$8,400.00	\$16,800.00	
425-2- 72	Manholes, J-7, >10'	EA	0	\$0.00	\$0.00	
425-2- 61	Manholes, P-8, <10'	EA	1	\$4,460.00	\$4,460.00	
425-4	Adjust Inlet	EA	1	\$890.00	\$890.00	
425- 11	Modify Existing Drainage Structure	EA	4	\$2,260.00	\$9,040.00	
425-5- 1	Manholes, Adjust, Utilities (Rim)	EA	0	\$0.00	\$0.00	
425-6	Valve Boxes, Adjust	EA	0	\$0.00	\$0.00	
430- 175- 118	Pipe Culvert, Round, 18"SS	LF	122	\$107.00	\$13,054.00	
430- 175- 124	Pipe Culvert, Round, 24"SS	LF	14	\$107.00	\$1,498.00	
430- 175- 136	Pipe Culvert, Round, 36"SS	LF	0	\$0.00	\$0.00	
430- 175- 148	Pipe Culvert, Round, 48"SS	LF	617	\$295.00	\$182,015.00	
520-1- 10	Concrete Curb & Gutter (Type F)	LF	740	\$21.95	\$16,243.00	
522-1	Concrete Sidewalk and Driveways (4" thickness)	SY	205	\$58.45	\$11,982.25	
522-2	Concrete Sidewalk and Driveways (6" thickness)	SY	140	\$75.00	\$10,500.00	
570-1- 2	Performance Turf, Sod	SY	816	\$3.05	\$2,488.80	
999-1	Roof Drain Modifications/Curb Openings	EA	0	\$0.00	\$0.00	
700-1- 11	Single Post Sign, F&I Ground Mount, Up to 12 SF	AS	1	\$700.00	\$700.00	
700-1- 60	Single Post Sign, Remove	AS	1	\$37.00	\$37.00	
711- 16- 101	Thermoplastic, Standard- Other Surfaces, White, Solid, 6"	GM	0.056	\$9,650.00	\$540.40	
711- 16- 201	Thermoplastic, Standard- Other Surfaces, Yellow, Solid, 6"	GM	0.110	\$9,650.00	\$1,061.50	
	Sanitary Manhole	EA	1	\$17,500.00	\$17,500.00	
	Sanitary Pipe 8" DIP	LF	14	\$505.00	\$7,070.00	
				Nokomis N. of S-3:	\$610,352.60	

ITEM #	Description	Unit	Quantity	Unit Price	Cost
102-1	Maintenance of Traffic	LS	0	\$0.00	\$0.00
110-1	Clearing and Grubbing	LS/AC	0	\$0.00	\$0.00
110-4- 10	Removal of Existing Concrete (includes sidewalks, driveways and curbs, concrete collars)	SY	495	\$17.80	\$8,811.00
120-1	Regular Excavation	CY	760	\$17.35	\$13,186.00
120-6	Embankment	CY	50	\$39.85	\$1,992.50
160-4	Type B Stabilization 12" (LBR 40)	SY	1,489	\$7.45	\$11,093.05
285- 709	Optional Base Group 09	SY	1,319	\$15.75	\$20,774.25
334-1- 12	Superpave Asphaltic Concrete, Type SP-9.5 (Traffic B), 2"	TN	146	\$147.00	\$21,462.00
425-1- 201	Curb Inlets, Type P-9 (<10')	EA	2	\$4,045.00	\$8,090.00
425-1- 341	Curb Inlets, Type P-4 (<10')	EA	1	\$5,250.00	\$5,250.00
425-1- 561	Ditch Bottom Inlets, Type F,<10'	EA	1	\$4,200.00	\$4,200.00
425-2- 41	Manholes, P-7, <10'	EA	1	\$8,820.00	\$8,820.00
425-2- 71	Manholes, J-7, <10'	EA	2	\$8,400.00	\$16,800.00
430- 175- 118	Pipe Culvert, Round, 18"SS	LF	92	\$107.00	\$9,844.00
430- 175- 124	Pipe Culvert, Round, 24"SS	LF	38	\$107.00	\$4,066.00
430- 175- 136	Pipe Culvert, Round, 36"SS	LF	335	\$250.00	\$83,750.00
520-1- 10	Concrete Curb & Gutter (Type F)	LF	765	\$21.95	\$16,791.75
522-1	Concrete Sidewalk and Driveways (4" thickness)	SY	171	\$58.45	\$9,994.95
522-2	Concrete Sidewalk and Driveways (6" thickness)	SY	154	\$75.00	\$11,550.00
527-2	Detectable Warnings	SF	20	\$38.00	\$760.00
70-1- 2	Performance Turf, Sod	SY	376	\$3.05	\$1,146.80
700-1- 50	Single Post Sign, Relocate	AS	1	\$320.00	\$320.00
710- 11-290	Painted Pavement Markings, Standard, Yellow, Island Nose	SF	15	\$6.45	\$96.75

SEGMENT 2 - NOKOMIS ROADWAY IMPROVEMENTS - South of S-3 (Miami to Pensacola) cont.						
711- 11-123	Thremoplastic, Standard, White, Solid, 12" for Crosswalk and Roundabout	LF	36	\$5.80	\$208.80	
711- 11-125	Thremoplastic, Standard, White, Solid, 24" for Stop Line and Crosswalk	LF	27	\$11.40	\$307.80	
711- 14-160	Thermoplastic, Preformed, White, Message	EA	2	\$536.00	\$1,072.00	
711- 14-170	Thermoplastic, Preformed, White, Arrow	EA	2	\$482.00	\$964.00	
711- 16-101	Thermoplastic, Standard- Other Surfaces, White, Solid, 6"	GM	0.117	\$9,650.00	\$1,129.05	
711- 16-201	Thermoplastic, Standard- Other Surfaces, Yellow, Solid, 6"	GM	0.133	\$9,650.00	\$1,283.45	
				Total Alternate A:	\$263,764.15	
NOKOMIS ROADWAY IMPROVEMENTS – Start Drainage Work 4/22/2019						
101-1	Mobilization	LS	1	\$12,500.00	\$12,500.00	П
				Total Alternate B:	\$12,500.00	

Summary of Change Order #8 (LAP-3)	COST IMPACT	Contract DAYS		
SEGMENT 1: NOKOMIS ROADWAY IMPROVEMENTS North of S-3 (Tampa to Miami)	\$610,352.60	55		
2) SEGMENT 2: - NOKOMIS ROADWAY IMPROVEMENTS South of S-3 (Miami to Pensacola)	\$263,764.15	20		
3) NOKOMIS ROADWAY IMPROVEMENTS Re-Mob – Start Work 4/22/2019	\$12,500.00	<u>30</u>		
Total Change Order #8 (LAP-3)	\$886,616.75	105 (LAP) 105 (EDTF) 105 (Contract)		
The original Total Contract Contingency Sum was				
The Contract Contingency Sum prior to this Change Order was				
The new Contract Contingency Sum including this Change Order will be				
The original Contract Sum (TOTAL BID PRICE) was				

	rder was
The new Contract Sum including this Cha	ange Order will be
	s Change Order was 284 calendar days for the LAP/EDTF/Total n Project for the LAP Grant Portion and EDTF/Total Contract has been
The Substantial Completion by July 3, 201 and Total QE Contract Days have been co	9, and Final Completion Milestone is August 1, 2019 and the LAP, EDTF nformed to be 344 Days.
	o additional time extension and/or additional monetary compensation associated with the change order as herein addressed.
	licting with this Change Order which are hereby changed to conform I by all previous change orders hereto is otherwise reaffirmed in its
IN WITNESS WHEREOF, this Change Or has been executed by the parties hereto or	der No. 8 (LAP-3) to Quality Enterprises, USA, Inc., their duly authorized representatives.
ATTEST: Lori Stelzer, City Clerk	CITY OF VENICE
BY:	 BY: John Holic, Mayor
	Date of Approval
ATTEST:	CONTRACTOR: Quality Enterprises, USA, Inc.
Witness Margarita Negron	BY: Louis J. Gaudio Authorized Signature (SEAL)
	TITLE: Vice President
	DATE: March 4, 2019
(ACKNOWLEDGEMENT OF CONTRACT	OR, IF A CORPORATION)
STATE OF Florida)	SS S
COUNTY OF <u>Collier</u>)	
	day of <u>March</u> , 20 <u>19</u> , before me, the undersigned authority, personally , to me known to be the individual described in and who
Quality Enterprises USA, Inc. , a	<u>fice President</u> , of <u>firginia</u> corporation, and who severally and duly acknowledged n officer aforesaid, for and on behalf of and as the act and deed of said

Morea Ilohu	(Signature o	f Notary Public – State of Florida)
Marcie L. Cohen Personally known X or produced identifica		or Stamp Commissioned Name of Notary Public
	N/A - Known	(NOTARY'S SEAL)
		MARCIE L. COHEN MY COMMISSION # GG 152066 EXPIRES: February 11, 2022 Bonded Thru Notary Public Underwriters